Name Date

1. Solve and explain why you chose that strategy.
a. 340+250+= Explanation:

b. 490+ 350 = Explanation:

c. 519+342-= Explanation:
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d. 610+ =784 Explanation:

e. 700 - 456 = Explanation:

f. 904 -395= Explanation:
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Answer Key

1. a. 590; strategies and explanations will vary.
b. 840; strategies and explanations will vary.
c. 861; strategies and explanations will vary.
d. 174, strategies and explanations will vary.

244; strategies and explanations will vary.

f.  509; strategies and explanations will vary.
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